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Model Exam 1

Question 1:

e Solve the following

a- 2tens,15 units = -----------

c- The smallest number can be formed from 2,5, 1= -
d- The greatest 3 — similar digit number is --------------

3 tens + ----- tens = 10 tens

(¢}
I

-h
]

14 units, 7 tens = ---———---

6 hundreds + 2 hundreds = ---------- hundreds

oQ
'

Question 2:

e Find the answer:

+ 125 - 31 + 88
I 4 N 4 R
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Question 3:

e Choose the right answer:

a- The number just after 800 is ------------ (801 — 799-811)
b- The number which lie between 960 and 962 is ------ (959 - 961-963)
c- 40tens = ---—--- hundreds (40-400-4)

d- The value of 5in 357 is -----------

e

f- The smallest 2 — digit number is

Question 4:

A- Compare:

a- 20 tens

o
1

47 , 10U

20 + 500 + 7

(o]
1

Q.
1

234 + 322

B- Write in letters :

a- 7/85=

The number before 200 is ---------

(50 —tens—5)
(201-199-100)

(100-99-10)

300
50U, 4T
7 + 20 + 500

The value of 6 in 634

b- 249 =

c- 163 =
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C- Write in digits :

a- Two hundred and fifty six =

b- Thirty eight =

¢- Four hundred and ninety seven =

D- Complete :

a- Inthe number 301 the digit O is in the ----------- place and its value is ----------

b- 5 hundreds, 7 units and 8 tens = --------—----

c- The place value of 4in 194 is , and the value of 9 is ------

Question 5:

A- Arrange the following :

e 456,835,102,79,277, 468. descending

e 318,211,354,85,517,19. ascending

2nd Primaryv

Mid term First Term




Al-Azhar Language Institute
G2Vl Gulioll a2l ad=o

B- Put (v )or(X%):

a- 304 is read as three hundred and forty. ( )
b- 47 + 95 =142 ( )
c- 478 can be formed from 6-4 -8 ( )
d- The smallest number from 2,0,5 is 502 ( )
e- 706 = 6 units, 7 hundreds and 0 tens ( )

C- Write the expanded form of :

a- 710 = + +

b- 809 = + +

D- Change it into compact form :

R 1o I To o E—

ST To o e —
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Model Exam 2

Question 1:

A) Complete:

B) Arrange in ascending order:

(Five hundred and fifty) , (600-100) , 530 , (The value of 4in 401) , 453

Question 2:
A) Complete:

c- The smallest number formed from the digits 9,0and 7is ..........

A= 548 i8S 1A @S.uieiiiiiiieiieiie et e e et e et eereeeeee et aeeereseeseenes
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B) Complete:

Question 3:

A) Compare:

a- 6tens 4u, 5t, 6H

b- 15U, 7T 8T

c- The value of 5in 450 The number after 499
d- The smallest different 3-digit number The value of 1 in 100
e- 335+402 92 -41

B) Choose the correct answer:

a- The number just before 800 (700, 810, 799)
b- ... hundreds = 50 tens (500, 5, 50)

C- 3tens+..... tens =10 tens (13,30, 7)

d- 83+38>........ (122 , 120, 121)
e- The place value of 0in 302 is ............ (0, tens, 10)

él
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Question 4:

A) Write the numbers that are between 347 and 354:

........... )ececseccsses jecscessecces yeescsecccese jesesesssseses esscsssesssee

B) Re-arrange the digits of the following numbers to form the greatest
and the smallest numbers:

The greatest The smallest

C) Put( Y)or(x):

a- 7 hundreds — 20 tens =50 T )
b- 8 hundreds and 7 tens= 870 (corneen )
c- 304 is read as three hundred and forty (cernee )

d- The greatest 3 different digit numbers is 999 T )
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Model Exam 3

Question 1:

B) Complete:

A- 62505 r€A0 AS eooveeeieice e
b- The greatest 3-digit NUMDBEr is ....c.covveeieeeceicee e
c- The number lies between 430 and 432 is .........

d- 70 tens = ......... hundreds

e- Five hundred and eight = .......cccccovveveviennennn. ( write in digits)
f- The number just after 330 is ..........

g- 4 hundreds, 2tens and 8 units = ..........
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i- The place value of 0in 706 is .........
j- The smallest number can be formed from1,0,5is .........

k- The number just after 199 is .........

Question 2:

A)Arrange in ascending order:

(800-200), 99, 896, 925, five hundred and forty three.

B) Compare:
a- the number between 785 and 789 D 700 + 68

b-6T,3H : 613

c- 4 hundreds : 40 tens

d- 700+ 1 +40 : 741

e- 990 (] The greatest 3-digit number

f- 15 units, 5tens D 80+ 100

;ﬁz y
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Question 3:

A)Choose the correct answer:

a- The number just before 410 is ......... (310-411-409)
b- 60tens=......... hundreds (60—-6-600)

c- Three hundred and thirty = ......... (313 -303-330)
d-2H,4U,6T=..... (264 — 246 — 642)

e- The smallest number formed from 8, 5 and O is...... (508 — 58 - 805)

f- 491, ....... , 493 (492 — 590 — 494)

g- 10 units ,5tens = ......... (50-70-60)

h- The smallest 3 digit numberis ......... (3—-100-123)

i- 753-120> ......... (634 -631-650)
j- Thevalueof6in631is......... (60— 6 - 600)

k- The number just before 265 is ........ (266 , 264 , 267)

B) Form all 3-digit numbers can be formed from the digits 6, 4 and 7.
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Question 4:

A) Complete in the same pattern:-

a- 828,838, ......... ) eeeennees ) ereennnes
b- 129, 127, ......... ) ereeennes ) e
c- 200, 202, ......... ) eeeeennes ) eeeeennes
d- 912,812, ......... ) eeeeennes ) eeeeennes

Question 5:

A) Arrange in descending order:

914 , 621 , 847 , 332, 99
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Model Exam 4

Question 1:

A) Complete:

g- The smallest 3-similar digit numberiis ......
h- 10 tens + 40 tens = ...... tens = ......
i- 7U,4H,2T=.... =] o RIS =T 1o I L

j- 10units, 7tens=.........

Question 2:

A) Arrange in descending order:-

(4H,2U, 8T), 137, (six hundred and 6) , (41 + 29), 350
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B) What is the number just before 125is ..............

C) Write the numbers between 125, 133

Question 3:

A) Put >, < or =:-

a- 2H, 8U, 6T 568

b- 678 The greatest different 3-digit number
c- 600 + 38 600+30+8

d- 15+ 15 39-9

B) Complete:

800, 600, ............... ) eeeenneneeens , 0

C) Arrange in ascending order:-

729,(99+1), (8H, 6U), three hundred and fifty four
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D) Form the smallest number from4, 6, 2

Question 4:

A) Complete in the same pattern:

e- 999,989, ...... ) eeeennans ) eeeeneans
f- 761,762, ........ ) eeeeene ) eeeeeees
g- 354,454, ... R R
h- 156, 166, ......... ) eeeeeans ) eeeeeans
B) The number before 399is ..................

C) Choose the correct answer:

a- 500 + 100S covverrvrrrrnnee. (610,510, 600)

b- The greatest number can be formed from 2,7,1 ........ (271,721,127)
c- 4 hundreds + 2 hundreds = ......... hundreds (6—-2-4)

d- The place value of 4in 745 is ............... ( hundreds - units - tens)
e- The number lies between 735, .........., 737. (734 , 736, 738)

f- 354+ 111> ........ (644,842 ,264)

Question 5:

.y
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A) Complete:-

a-564-=...... + o
e F o, S SRV
b- The number is after 499 is .........

d- ......... hundred, ......... tens,.......units = 840
e- 215, ........ ,213
f- The number is before 999 is .........

g- 318 =........t.

h- ................ hundreds=50tens=.........
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Model Exam 1

Question 1:

Solve the following

a- 2tens,15units= 35
b- 63+25= gg
c- The smallest number can be formed from 2,5,1= 125
d- The greatest 3 —similar digit numberis- 999
e- 3tens+ 7 tens=10tens
f- 14 units,7tens == 84
g- 6 hundreds + 2 hundreds= 8 - hundreds
600 - + 200 = 800

Question 2:

e Find the answer:

847 74 209

+ 125 - 31 + 88

972 43 297
I 4 /4 I 4
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Question 3:

e Choose the right answer:

d

0
—
>
()
)
[
3
o
(1)
=
=
(%]
—+
Q
=
(1)
=
(0]
o
o
&
00
(=]
[y

............ (801 — 799 —811)

b- The number which lie between 960 and 962 is 261 (959 - 961 -963)

c- 40tens = 4 hundreds (40-400-4)

d- The value of 5in 357 is 20 (50 —-tens—5)

e- The number before 200 is -122- (201-199-100)

f- The smallest 2 — digit number is 10 (100-99-10)
Question 4:

A- Compare:

a- 20 tens < 300

b- 4T , 10U > 5U, 4T

c- 20 + 500 + 7 = 7 + 20 + 500

d- 234 + 322 < The value of 6 in 634

B- Write in letters :

a- 785 = -.even hundred and eighty five.

b- 249 = - TWo hundred and forty nine.

c 163 = --One hundred and sixty three.
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C- Write in digits :

256

a- Two hundred and fifty six =

b- Thirty eight = 38

497

¢- Four hundred and ninety seven =

D- Complete :

a- In the number 301 the digit 0 is in the ---¥€NS__ place and it's value is

b- 5 hundreds, 7 units and 8 tens = ----287Z___.

c- The place value of 4 in 194 is -—-Ynits _and the value of 9 is --20.
d- 28-25= -3
Question 5:
A- Arrange the following :
e 456,835,102,79,277,468. descending
835 . _. 468 _ 456 . 277 ___ 102 19 __
e 318,211,354,85,517,19. ascending
s L 85 . 211 318 ____ ___ 354 ___ __ 517 __
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B- Put (v )or(X%):

a- 304 is read as three hundred and forty. ( % )
b- 47 + 95 = 142 (v )
c- 478 can be formed from 6-4 -8 (%)
d- The smallest number from 2,0,5 is 502 ( x )
e- 706 = 6 units, 7 hundreds and 0 tens ( v )

C- Write the expanded form of :
a-710=799 . 10 ., 0

b-809=-800__,_ 0 . .3

D- Change it into compact form :

a- 5+20+300 = 322 ___

b- 80+900+1=-—28L
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Model Exam 2

Question 1:

Complete:

b-
546 94
+ 345 -50
891 64

B) Arrange in ascending order:

(Five hundred and fifty) , (600 - 100) , 530 , (The value of 4 in 401) , 453

400 , 453, 500 , 530 , 550

Question 2:

A) Complete:

d

The number lying between 699 and 701 is 700

o
1

5H,6U=506

(o]
1

The smallest number formed from the digits 9, 0 and 7 is 709

d-

2nd Primaryv
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B) Complete :

a) 683 = 600 + 83

= 600+80+3

Question 3:

A) Compare:

a- 6tens

o
1

15U, 7T

The value of 5in 450

(o]
[

Q.
1

The smallest different 3-digit number

335+ 402

(¢}
i

B) Choose the correct answer:
a- The number just before 800 ......
b- ... hundreds = 50 tens
C- 3tens+..... tens =10 tens

d-83+38>........

e- The place value of 0in 302 is ............

2nd Primaryv
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4u, 5t, 6H

8T
The number after 499
The value of 1in 100

92-41

(700 , 810 , 799)
(500 , 5, 50)
(13,30, 7)
(122, 120 , 121)

(0, tens, 10)
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=
==



Al-Azhar Language Institute
G2Vl Gulioll a2l ad=o

Question 4:

A) Write the numbers that are between 347 and 354:
348 , 349, 350, 351, 352, 353

B) Re-arrange the digits of the following numbers to form the greatest
and the smallest numbers:

The greatest The smallest
643 4,3,6 346
910 1,0,09 109

C) Put( v)or(x):

a- 7 hundreds — 20 tens =50 (%)
b- 8 hundreds and 7 tens= 870 (v)
c- 304 is read as three hundred and forty (%)

d- The greatest 3 different digit numbers is 999 (%)
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Model answer 3

Question 1:

A) Find:

a- by-
346

+ 547
893

B) Complete:

296
+ 642

938

a- 625 is read as Six hundred and twenty five.

b- The greatest 3-digit number is 999

c- The number lies between 430 and 432 is 431

d- 70 tens = 7 hundreds
e- Five hundred and eight = 508
f- The number just after 330 is 331

g- 4 hundreds, 2tens and 8 units = 428
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h- 536 =500+30+6
i- The place value of 0in 706 is Tens.
j- The smallest number can be formed from 1,0, 5is 105

k- The number just after 199 is 200

Question 2:

A)Arrange in ascending order:

600 543
(800-200) , 99, 896 , 925 , Five hundred and forty three.

9 , 543 , 600 , 89 , 925

B) Compare:
786 768

a- The number between 785 and 789 700 +68

360 )

b-6T,3H < 613

400 ) 400
c- 4 hundreds = 40 tens

741 )
d- 700 + 1 + 40 = 741

— 999

e- 990 < The greatest 3-digit number
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Question 3:

A)Choose the correct answer:

a- The number just before 410 is ......... (310-411-409)
b- 60tens=......... hundreds (60—6-600)

c- Three hundred and thirty = ......... (313 -303-330)
d- 2H,4U, 6T = ............ (264 — 246 — 642)

e- The smallest number formed from 8, 5 and O is...... (508 — 58 - 805)

f- 491, ........ , 493 (492 — 590 —494)

g- 10 units, 5tensis ......... (50-70-60)

h- The smallest 3 digit numberiis ......... (3—-100-123)

i- 753-120> ......... (634 - 631 - 650)
j- Thevalueof6in631lis......... (60 -6 -600)

B) Form all 3-digit numbers can be formed from the digits 6, 4 and 7.
647,674 ,467,476,746,764
e The smallest number =467

e The greatest number = 764

C) Write all the numbers between 335 and 342.

336,337,338,339,340, 341
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Question 4:

A) Complete in the same pattern:-

a- 828,838,848, 858, 868
b- 129,127,125,123,121
c- 200, 202, 204, 206, 208

d- 912,812,712,612,512

B)Form the suitable numbers from 2,9, and 0

290, 209, 920, 902

Question 5:

A) Arrange in descending order:

914 , 621 , 847 , 332, 99

914,847,621,332,99
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Model Exam 4

Question 1:

A) Complete:

g- The smallest 3-similar digit numberis 111

h- 10 tens + 40 tens = 50 tens = 500
i- 7U,4H,2T=427,and is read as four hundred and twenty seven.
j- 10 units, 7 tens = 80

k- 78 -16 =62

B) Form all 3-digit numbers can be formed from 1,0 and 6

106, 160, 601, 610

Question 2:

A) Arrange in descending order:-

(4H,2U, 8T), 137, (six hunared and 6) , (41 + 29), 350

606 , 482 , 350 , 137 , 70

.y
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B) What is the number just before 125is 124

The number is 32 + 62 = 94 boys and girls.

C) Write the numbers between 125, 133

126,127,128,129, 130, 131, 132

Question 3:

A) Put >, < or =:-

ol

a- 2H,8U, 6T 568

b- 678 < ] The greatest different 3-digit number
c- 600+ 38 @ _ 600+30+8

B) Complete :

800, 600, 400, 200, 0

C) Arrange in ascending order:-
C100) (206 ) ,@
729 , (99+1) , (8H,6U) , three hundred and fifty four

100 , 354 , 729 , 806

D) Form the smallest number from4, 6, 2 246
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Question 4:

A) Complete in the same pattern:-

a- 999,989,979, 969, 959
b- 761,762,763, 764,765
c- 354,454 ,554,654 ,754
d- 156,166,176, 186, 196

B) The number before 399 is 398

C) Choose the correct answer:

a- 500 + 100S covverreerrre. (610,510, 600)

b- The greatest number can be formed from 2,7,1 ........ (271,721,127)

c- 4 hundreds + 2 hundreds = ......... hundreds (6—2-4)
d- The place value of 4in 745 is ............... ( hundreds - units - tens)
e- The number lies between 735, ......... , 737 (784 , 736, 738)
f- 354 F 111> ........ (644,842,264 )
by
=
==
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Question 5:

A) Complete:
a- 564 =500 + 64

=500+ 60 +4
b- The number is after 499 is 500
c- The value of 3in 340 is 300
d- 8 hundred, 4 tens, O units = 840
e- 215,214,213
f- The number is before 999 is 998

g- 318=300+10+8

h- 5 hundreds = 50 tens =500
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